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FACULTY OF COMMERCE
B.Com. (First Year) (Second Semester) EXAMINATION
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BUSINESS STATISTICS AND MATHEMATICS

Paper BC-2.2
(Wednesday, 4-12-2024) Time : 10.00 a.m. to 1.00 p.m.
Time—3 Hours Maximum Marks—T75
N.B. :— (1) Question No. 1 is compulsory.
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(2) Figures to the right indicate full marks.
SSEherd 37 YU IO Tiforard.

(8) Use of simple calculator is allowed.
e TUERES  ATRUA QAT ST

1. Construct the Laspeyre, Paasche and Fisher’s Ideal Number from the

following data : 20
Commodities 2022 2023
Price Quantity Price Quantity
A 4 20 6 30
B 6 30 8 40
C 8 50 10 60
D 5 40 7 50
E 3 20 6 30

P.T.O.

X114Y086C02X114Y 086C02X 114Y 086C02X 114Y 086C02



( 2) TA—63—2024
el Afgdi=an SMeR argysR, gy anfor freren fdsne &l

axd 2022 2023

ferma T forma T

A 4 20 6 30

B 6 30 8 40

C 8 50 10 60

D 5 40 7 50

E 3 20 6 30

If : 15

4 6 2 3 7 9

2 5 8 6 3 -2
6 4 8
and C=|8 3 6
4 7 5
Solve :
@) A+ B
) 2B + C

@) 2A + 3C.
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2 5 8 6 3 -2
6 4 8
3rfor C=|8 3 &6
4 7 5
A+ B
2B + C
2A + 3C.
Or/Terar

Find the value of A — 3B :

2 4 4 2
,B=
5 6 2 4

Find the value of 3A + 6B :

A=
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@

(i)
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Find the value of AB :

1 0 2 3
A=|0 2 3|,B=|1
1 2 3 0
fHad @ AB :
2 -3 1
A= ,B:
4 5 2
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2 3
1 2
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Faderal match company has 60 female employees and 80 male employees.

If two employees are selected at random, what is the probability that : 15

@
@iD)
€279)

Both will be male.
Both will be female.

There will be one of each sex.
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Or/Tehar

Find the value of :
@  18Cg

9!
@ 9-5)
Gi) 12P,
frra &
@  18Cqg

9!
@ G-
Gii)  12Py.

An amount of Rs. 22,000 paid at an annual interest of 9%, calculate : 15
@) Simple interest for 4 years.

(1) Compound interest for 3 years.

22,000 . A A AlMb® 9% CIH QUAd STelt, o8 TOE & :

G 4 oY Wes =AW

@) 3 I =A@ oA

Or/f&ar

@) An agent is entitled for commission of Rs. 1,200 @ 8% on turnover,

find the amount of sale.

~

Tehl TATAT 8% U4 1,200 . &gy 9ol @ =i faml fowad
hlal.
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(1) Ages of Ganesh and his father are in ratio of 4 : 13. If the sum of

their ages is 85 years, find their ages.

T AT M= Sl aa™ UK 4 ¢ 13 316, SR = 9ard!
IS 85 I8 I A< 9 hIdl

5. Solve any two from the following : 10
() Types of Matrices

(1) In how many ways can the letters of the word ‘STUDENT’ be

arranged
(zit)  Types of events
(tv)  Find the value of 8!
GIeicush! HIvde g dieal
() HRWENE GER
@)  ‘STUDENT &1 ¥issrel 31eR fohefl fr=1 gehR shmem Tman Adtet
Gif) ~ EEATE TR
Gv) foAa smen 8!
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